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(i1) . Question: an 1 ©5 are: oh_;ectwc. lype quesuuns and each- Lamcs 5 marks.

(iii) .- Question Nos. 6 lo lll] carr} 2.marks each. .

- (iv) ~ Question Nos. 1-_1 to 14 carry 3 marks each.

v) Question Nos: 15 to 21carw 4 marks each.

~ (vi) . Question Nos. 22 to- 26 carry 5 -marks eéach.
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) tan xetanTy=
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() ay ‘Fﬁ"'f"f(x_)“ﬁ‘ﬁm g v 'wﬁ.ﬁ:wa% ar f"__'(xz_) wow

@iy sy T+F+F A R ¥ wiwm @RE e ¥

() Reg Plyys) xamdgh _ #

(\') .l'_:lg tr{ ?EH 'y':l,‘.—v‘__g_-- E[-ﬁ‘ {qsf T@Taﬁ m _ ' - 3 ’ -

CFill in the blanks :

@ tanlyrtanly=

(iv) The distance of the point P(x, y, z) from x-axis is

—

(i) If function' f{x) is minimum at point x,, then Fife) i

(ili) Unit vector in the ditéction of “‘*+T+? o .

. (v) Slope of the tarigént 16 the ourve y=3i3<y at x=3 is .
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ﬁqﬁ?trf F N @ | I ﬁﬂrrq

. 3

0 o il 3w 1" a@wim i b z:f‘&,’..mq_;.ra.

\(n) uh R B wike S a“r wAn - A um o W, o -
L P(An)=PLA)-P(B)

[DE ﬁ'mﬁ' CAeD B e B it LR B A

A (v) @ r=a, voola wd AR ve~2 Wdoy=1 QR AT @
44" S _ |

17
T i‘ll

() feg o(uo2) @ xoww A gL R
‘Write True / Fudse in the following statcments
(i) A square matrix A is invertible it | A[=0

(i) If two evenis-;l nﬁ;l' B of a sample space 'S’ be imlependent,

then P(ANB)=P(A) P(B).
(iii) The velocity of a particle ot maximum height is always zcro.

- (V) Are'l bounded by the curve )= t3 x - axis and ordinates x = [,

' q 17
x=-2 is =
)

(v) The perpendiculur distance of the point (1.0, 2} [rom the ¥ ~axis is 1.
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361 krﬁ'anf T
Mmch ‘Lhe correct pm_r_», . _ Ce e
' 9 (Column 'AY) . & @ (Column 'BY
o I
o Txt+at =
- dx | .
@ [+
o NaT—-x |
’Gll_l) '['*J a-=x% dyx | (C.)'_ '; 1:11_1:._ _ :,; j |
e N I LoV S L
) (-iv‘i f——__.. (d) X a?--f-:c?'- +~;—Iog(;:+ A‘-‘+g2J.
- X ~_—_(J2 . . o | .
IJ2l2 . S S
| Va<+x° dx (e) sm >
@ g/ x-Vh?=a )
. - LN -
5 W @l Ufﬁamrq o A
o podx o
(i HUH & -
_ ® J.91+1 o
(i) mwmq%@ﬁﬁmﬂrqwqm#ﬁwﬁ 3 -
(iii) ﬁﬁmmnﬁﬁwwﬁmﬁamm
. 2 %y dy
(iv) W-Hﬂilmtul [ }J s oy EIIH —~
| o\ e ds _
logx
(@,'rm'ﬁ?rqn' o wer :E‘ 3 2.0
ertc the answers in .one. word / scnlcﬂce
¢ b
) \fa]us ofj T s
9x+1
(ll) The maximum or nijimum value of OhjECthE function' is ca]lcd -
(iii) The process 6f doing certain specified steps in a given order is caUe.d -
sy . ) ., e . . . d"}: I- ")(é} .
- (iv) I)egree m“ _a given d:ﬂercnt_lal.equatmn
: o - . rir- J d‘_c‘
. Lo - e . logx ‘
- (v} At what value of x, the function - IS maximum ¢
[ ES2037 B
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- {1 2 71 APEIRPCRN
6 -.-::[0_ ; .3] o frg G0 B (4) =4,

- 3 22 7 NS
if .-I=[0. & 3],'Lhcn prove that (al"}_';A.
#@3 | OR

2 <41 .0 13 -77 PO
afe A=[1 5 } @t g=| |, T A ~ B s @ibadi
4.0 3} SR : |

(2 =41 - [1 L3 5 | '
IfA:l: < ,)]'and B=| .|, then find 4 ~ B.
> 14 0 3|
7 fE AR B e f(x) =324 2r51, x=2 W §
Prove that function f(x) -—;,_3xi-i-‘2r—-l ‘is continuous at x=2.

s | OR
TH DY z—-sm(logx)‘, x>0
. ' 33 . :

d .. . :
lve —sin(logx), x>0
Solve Ze® (tog),

& mmadbm [l -

Solve J-ccs?'.rdx
| gl } OR
I Codx

ax
Sol I -

[150] 7 ES-2037 7 AL - P.T.O.
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? "ﬁ: a=2{+2 )5k am _b--=_-2f-+J-‘*'_- -
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i o s PR | R
ind - e e e T of ectols:
Find -the unit vector in the diréction of the sum-_of lht; ¥ T

=y

a b=0+ 43k,

A LA A
a=2{+2j-5k and

aI?J?IT !OR
Hﬁ‘qr 8 ;“ -2k ?ﬁ%ﬁwfﬂﬁ E‘E”E”"
=5 A A A e stion. cosines.
If veclor ¢.= i+ f—2k, then find its dircouon- COSINES

10 _-ﬁ‘%i*‘gafff( 3, 4)aan (4 6)?5’[ fimﬁ?-lﬁ'ﬂ %@1 a?tﬁ:zﬁ aﬁwm 2
GG a?ri‘—*:tu | '
Find the dm.cuon cosmcs of a line ;ommg the pomls (2, :, 4) and
@, 5, 6)..

GI‘EIHIIOR
.uﬁmmﬂaﬁmml 3 afre 5 €, ﬁraﬂﬁrﬁzﬁaﬁmwﬂﬁm|

If thc direction’ ratios of a line are. 1 3 and 5, thcn find its d1recnon cosines.

wod aurjuopieoqdur mmms//:sdny

'1__1'ﬁ@-:ﬁ@-mr-mﬁgmsﬁrﬁﬁza%ﬁﬁﬁa@%y 3

'mgwmﬂﬁrﬁr wmmmﬂﬁww*?

The side of a. squarc metal sheet’is increasing -at the rate of 3 cm per mlnule
At what rate is. its ‘area increasing ‘when the side is 10 cm. lon;, 97

| st | OR EERR
g a‘ﬂfmﬁﬁw f(x)=x>=3x+dx, ¥ER. R A e o

Prove that the function f(x)=x7=3x"+4x, x€R is increasing on R.
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12 W p=ax-3-1 iy ﬁ?ﬁaﬁﬁmmﬁqﬂmfm “D‘

20 .
W;%l_

Find the :pcji'nt'at-wh_ich‘ the tangeiit to the curve =+ 4x-3-1 has‘_
ils sl -
ils .s ope 3
s | OR
G5 X=asind1, y=bcos’ & TH g wEl /= = ¥, oT Wl TE B T

?ﬁﬁﬂﬁﬁﬂm

Af vector g = +_;+3L and: s _31+:)}—-7k then find [ﬂ'Xb]
ai?ImIOR

a® 7 =5i-j=3k ¥ 5-—:+3; 5%, aﬁmaﬁﬁqﬁsﬂﬁm
. |

P T T S R S S S N L
If a=5i-j-3k and } = i# 3 j=Sk. thenprové that the vectors .a + b
_aﬁd-_ 3—-5}) are perpendicular.
- {4507}/ ES-2037 | 9 MR EGAEERE. - PT.O.

¥
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=

: | ) e wiven by xoasindr, yobeosdt
2 Find the équation of tangent to-the curve given by x=asm™f, y=0C0s

g : \ '. T[ .

= at a poinl where =—.

= | 2

S

S

&

=

. _

= A = a3 SR S e i

3 13 tr%aﬁ{ai a-—2:’+]+ 3k AR B =3i+5/-2k, W jaxb] 3
(¢ : ' ' ' :

o . | _ .
3
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-236%(4&16@113'1@5: Lo
Find the cquanon of Ihe planc wnh m!ercepts 2, 3 and 4 on the x, ¥ @d

z- axis respchvcly
s | OR
WA 2x~3y+4z—6.= 0 q?rqg-rfagn ﬁ]ﬁﬁﬁﬂt{l

Find the dlSIanCC of lht. planc 'h, 3y+4:. — 6= O from the orlglﬂ

15 R e 'f':-Rﬁ'R',-- flx)= ;.2 qar g R—:»R g( }—-Slﬂ'f,‘LCR
g dfowit @, A gof(x) st fqg:( ) ElGs :a“rP—g gt ﬁ‘{a aﬁﬁ"m fir
gf’f (\)*fﬂg( )
If f:R— R and ;g-:R.w)R_ _'respcétivel'y aré deﬁriéd_ by’ f(x)_= x2 and
g‘(x):sinlr-, x&R. Find gof(x) and fog(x) and show that gof (x)= fog(x).
A [ OR
= Q 4 &'mrf‘_r glegay * T TR SRy a*b #E;;b-via,_beg-,'
fog wifig fo * wa fafrel S qeadt )
_. The binary opcmfion-.i 0_‘_]_ the set Q is defined as a,*_b.--_—%-.v a,beQ.

“Prove that * is commutative and associative.on O,

50] /BS2057 0 RS PTO.
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B Eaied '
Prove tha

i

an™! . -1

- =C0sec
Yal-y

ha

W!OR

5] ?ﬁ[ﬁ‘l’q an~ I'}1+mh—13T

Solve tan™! 24 anl 3= X

_)7;“ﬁnrmﬁmwma{5ﬁﬁrﬁmﬁﬁq -_4
25y =1 ..
3x42y=7 - - v
- Solve given system of equauou by ‘using rn'ltrn: methcd
’31 +3)r-1
P 3:;+2y=7 '

wod aurjuopieoqdur mmm,//:sdny
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@ [ OR
|~a= ab g

g fab b2 _bb'%tla?*bzq;‘!

9
- | ae be —c¢*<

—a* ab ac’
Prove .that ab “bz E_JL" =402b2(.‘2

-.ac' be  =c?
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" Find*the sliortest d]SLanCl: berween the i

are

D=4 @l -THE)
D=2 4k (37 —5)+2k)
31?131 } OR
Z9ge fF @
v+3 y=1 F-3
— == = aEn'
-3 I 3

‘Show that lines

x+3 _y=1_z=5
-3

w |

x+l y=2_z=5

. )

ar¢ coplanar.

ng

{18

we.s f] ‘and ’“!

ﬁﬁqﬁﬁwﬂﬁﬂawmw L

. A A AR
AR A A B e Ty e 2 TR E R St
j;=i-1-..j+,1 (2_;‘ —j +%) &ﬁ'( pg21f.) R

whose vector equdiwn :

BRI “P-T.O.
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gao'. ¥ >0, XeA2p <10, Qx4 p <14
: Q_le: 1-mear Programming problem -graphicaily
‘Maximise Z =254 3y o T

19 WD Z=2ce3p w et ww wa St wats she

Subject o the constraints
X200 y20, x+2y<10; v+ y<14
| ~ 3m@ | OR

o Pt e e @ g A ol 2w B A S wdE

WA B R 9 W ik | e i axd & e e § A AR
B % S 3% w0 12 g7 42 qun ol e ¥ 3 6 ot At aasEaal
?ﬁ}ﬁ"ﬁﬂﬁ au "-lTﬁfﬂT- w7 & frg Serer aitman 9w €2 wwa 180 G
30 TR TR A 9% W R %, 8,000 wa1 A0 B & GG AR
- B 12,000 F @ AR 1 SE0 4 oK T B % Reew i @ afrdas
AT TAR & R f v Pt s v ¢ vy e st @ @ ?
'A_‘lmllm_l'acturiug compuny makes two models 4 and B of a praduct. Each piece
o model: A requires 9 lubour hours for fabricating and 1 labour hour -for
E'“SI"“S' Lach piece of model B requires12 fabour hours for fabricating and
3 Tabour bours. for finishing, For fabricating and finishing, the maximum-labour
hours available are 180 and 30 respectively. The company ‘niakes.a profil of
Rs. 8,000 on- each picee of 'model A ard Rs. 12,000 on each piece of inodel |
B. How many. piece ‘of model A ‘and model B should be manufactured per
week to realise .2 maximum profit ? What is the maximum prafit per week 7

20 TR P(d)==, P(B)=% T PI(./lr'\B)*:-l% g,

: AY o o BY e a o
x Pl = sy opl L 'y . N
(l)-, (B) (ii) PI\AJ (iii) .P(AUB} B2 ":ﬂﬁ"ﬁ[ﬁm | |

'P(._E’) = —1- nd 'P(Ah B)= ﬁ then find v'alues..

»

If P_'(A:) =

5"
o oA o A(BY i elacay
() P[E] (1.1)‘ PL;] (i3i) P(AUB)

- | e [ OR _

TH 9 D Z 9 IOIE T ST Yee &S SGaie @1 A 6 4mm g
TR 4 & R4 Uh 917 Yo T S Rk et 9w S|

A die is: thrown twice and the.sum ‘of the numbers appearing is observed
10 be 6. What js the conditiona! probability that the number 4 has appeared
at least once ? : : '

[150] / Es2037 13 ORI PT.0.
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21 - %ﬁaquaqa a‘fﬁ-afaq'r:i fﬁq“"“a”(ﬁsli

gruqf%ra;g%ﬁ—%mﬁ wﬁmﬂﬁﬁﬁ@“"w” F
R weﬂﬁqwmﬁmﬁmaﬁﬂm* |

ciés ot a post.
A hUSbﬂnd and his mfc auenncd an ml:,n iew: for wo vaczm p

i
Probablh‘w of 1;13 husband bcmg sdcctcd is :{- whnrcas Lhat of thc mfr: is

R Fmd the’ pmbabml) thal noue . of thcm m!l e se!:.cll.d

GTq?ﬂIOR
-'qm'wﬁ xawm%twwﬁmmaﬂﬁ EIT. E‘q’ﬁﬁ'
qﬁ’rmﬁﬁl'manwmﬁmaﬁﬂrﬁaﬁml |

A dae 15 thrown me; In n.at.h 111:0\1. ‘getling an even numher is Louszdered

a’ succuss TFind the probub:llty distribution .of the aumber of SUCCESSES.

22 @, @ A2=54+6/ B A I DT 5
fz o s
If 4=[2 1 3/, then find the value of A7 =54+67.
L1 = L
T ) OR
afg A= 4 I'_,_,gi[q"-"__;_ _-.5]. % Eﬁ Eﬂﬁt{ F$ fAB) = B’ .-I'
2 | AR
I A={ 4.1, p=[i 3 -6 then prove that (AB)'=B't>
[150] 7 Es:2037 4 mumnmu"uwmnwmﬁmlnn PT.O.
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. f(l')={x+1 sk

Braxt w3 x> _
LW F R aw w9 D

_lf_function f(\) {x"'-l when ¥ <1

L3—1.'1.1. wht:n t>l

is contmuous al-point. x =1 then ['md values of 'a'.
[ OR

SN H/ oo F 'HT?IHW ﬁﬁﬂc’ﬁ_ﬂlﬁﬁ X >0% i

Differentiate ysinx |y > 0 with respect to ¥.

n
n“‘ Wqﬁgﬂﬁ | - o 5
x
Evaluat T ——‘ﬁ‘" '
' eﬁ'_:l-i- tan x
6

sq@ [ OR

[A3=2x—22 ax w1 = T ARG

Evaluate H 3-2x -'-x-z-_ dx.

25wt y=? wl=y ¥R A @ deew T A

5
Find the arca of lhc région bounded hy two parabolas y= 1:2 and _vj‘.,=.1‘.
3] [ OR
x=0 U x=2n ¥ TG G y=cosx & N a‘rmr%ﬂfmfnaaﬁf‘ml
Find the area bounded by: the curve y=cosx between_ x=0 _-and :c-_21|:.
[150] 7 ES2037 . _.1-:-. 0BG immhnmuﬂm'ﬂnut P.T.O:
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_ xlz+2yi_;j;?r_log.‘c & F AT

:-Soh;'e- diﬁfertntial_ equation

dy Y '
X==42p=x“logx
dx - L , B

H‘?IH'T(“T 'hy

'--:ﬁtm{OR

,;~-'>x2;i—0 &l %Ff aﬁm

. ,—:‘[qﬁﬁ_}, = ?7-_'51'“-"-';':' |

' ._Si:)llv_c'thc dilfe;enﬁal'-cqnalinn 1xp+y*

~when x = .

[

7 E8-2037

2 —2%25'1;‘—'0 -givéﬂ- that _V= 2 _
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